
MK/MK2

RS

RE

REC

C..X

MTS

C..S

MQ

RHC

CC

Construction (ø20 to ø40)

Parts  list

Replacement parts: Seal kits

Rod cover

Head cover

Cylinder tube

Piston

Cushion ring A

Cushion ring B 

Piston rod

Cushion spacer

Bumper 

Magnet

Bushing

Relief valve assembly (rod side)

Relief valve assembly (head side) 

Relief valve body retainer

Hexagon socket head cap screw

Hexagon socket head set screw

Label

Cushion seal

Piston seal

Wear ring

Piston gasket

Cylinder tube gasket

Rod seal

O-ring

O-ring

Material

Aluminum alloy

Aluminum alloy

Aluminum alloy

Aluminum alloy

Carbon steel

Carbon steel

Carbon steel

Stainless steel

Urethane

—

Oil containing sintered metal

—

 — 

Aluminum alloy

Chromium molybdenum steel

Chromium molybdenum steel

—

Special resin

NBR

Resin

NBR

NBR

NBR

NBR

NBR

Note

Clear anodized

Clear anodized

Hard anodized

Chromated

Hard chrome plated

Hard chrome plated

Hard chrome plated

Clear anodized

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

No.

ø20: M5 x 6 
ø25, ø32: M6 x 6 
ø40: M8 x 8

Nickel
plated

Nickel
plated

Bore size (mm) Seal kit no.

RHC20-PS

RHC25-PS

RHC32-PS

RHC40-PS

Contents

Set of nos.
19 to 25 above

∗A ∗A

Section A enlarged viewDescription

ø20, ø25: M5 x 6 
ø32, ø40: M6 x 8

20

25

32

40
∗ Seal kits are sets consisting of items 19 through 25, which 

can be ordered using the seal kit number for each bore size.

High Power Cylinder   Series RHC

Weight  Table (Based on a 500mm stroke for each bore size.)

Accessories

Theoretical Output Table

Bore size (mm)

Additional weight per 50mm of stroke

Basic weight

Basic type

Axial foot type

Flange type

Unit: N

(kg)

OUT IN

Bore size
(mm)

Rod size
(mm)

OUT

IN

OUT

IN

OUT

IN

OUT

IN

OUT

IN

OUT

IN

OUT

IN

OUT

IN

Piston area
(mm²) 0.2

94

71

147

113

241

207

378

318

589

442

935

788

1508

1296

2356

2068

126

94

196

151

322

276

504

424

785

589

1247

1051

291

1728

3142

2757

188

142

295

227

482

415

756

636

1178

884

1870

1576

3016

2592

4712

4135

220

165

344

265

563

484

882

742

1374

1031

2182

1839

3519

3024

5498

4824

251

189

393

302

643

553

1010

848

1570

1178

2494

2101

4021

3456

6283

5514

283

212

442

340

724

622

1130

954

1767

1325

2806

2364

4524

3888

7069

6203

314

236

491

378

804

691

1260

1060

1964

1473

3117

2626

5027

4320

7854

6892

20

25

32

40

50

63

80

100

10

12

12

16

20

20

25

30

  314

  236

  491

  378

  804

  691

1260

1060

1963

1473

3117

2626

5027

4320

7854

6892

157

118

246

189

402

346

630

530

982

736

1559

1313

2513

2160

3927

3446

20 25 32 40 50 63 80 100

1.20

1.44

1.29

0.06

1.62

1.88

1.79

0.08

2.04

2.44

2.23

0.09

3.20

3.72

3.47

0.15

4.90

5.95

5.68

0.22

  8.93

11.04

10.67

  0.35

13.60

16.67

15.92

  0.51

6.08

7.32

6.97

0.25

1N: Approx. 0.102kgf   1MPa: Approx. 10.2kgf/cm²

Note) Theoretical output (N) = Pressure (MPa) x Piston area (mm²)

Calculation method  Example: RHCL32-600
• Basic weight ……… 2.44 [foot type ø32]
• Additional weight .... 0.09/50mm stroke
• Cylinder stroke …… 600mm stroke
  2.44 + 0.09 x 100/50 = 2.62kg

Mounting nut

(mm) Material: Carbon steel

Rod end nut

(mm) Material: Carbon steel

NT-02

NT-03

NT-04

NT-05

NT-05

NT-08

NT-10

20

25/32

40

50

63

80

100  

BPart No.

B

C

d

D

H

30°

B

C

d

D

H

30°

Applicable bore size C D d H

13

17

22

27

27

32

41

    M8

  M10 x 1.25

M14 x 1.5

M18 x 1.5

M18 x 1.5

M22 x 1.5

M26 x 1.5

  5

  6

  8

11

11

13

16

15   

19.6

25.4

31   

31   

37   

47.3

12.5

16.5

21.0

26   

26   

31   

39   

SOR-20

SOR-25

SOR-32

SOR-40

20

25

32

40

BPart No. Applicable bore size C D d H

26

32

38

41

M22 x 1.5

M24 x 1.5

M30 x 1.5

M33 x 2.0

  8

  8

  9

11

30   

36.9

43.9

47.3

26

32

38

41

63

47

98

76

161

138

252

212

393

295

623

525

1005

864

1570

1378

0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0

Operating pressure MPaOperating
direction

4.9-7


